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1. DNA is found in which of the following

eukaryotic cell organelle ?

(A) Ribosome

(B) Golgi body

(C) Mitochondria

(D) Lysosome

2. Histone protein is part of :

(A) Nucleosome

(B) Spliceosome

(C) Primosome

(D) Ribosome

3. How many hydrogen bonds are found in

between Guanine and Cytosine of DNA

double helix ?

(A) 1

(B) 2

(C) 3

(D) 4

4. Histone protein is not found in :

(A) Eukaryotes

(B) Prokaryotes

(C) Both Eukaryotes and Prokaryotes

(D) Mammalian Cells

5. Which of the following base pairing rule in

DNA is correct ?

(A) G=C, A=T

(B) G=A, C=T

(C) A=C, T=G

(D) T=C, G=A

6. Which of the following nitrogen bases found

in DNA belongs to pyrimidines ?

(A) Adenine and Guanine

(B) Cytosine and Thymine

(C) Adenine and Cytosine

(D) Guanine and Thymine

7. Which of the following molecule can self

replicate ?

(A) DNA

(B) RNA

(C) Both DNA and RNA

(D) Proteins

8. Double helical model of DNA structure was

proposed by :

(A) Franklin and Wilkinson

(B) Watson and Crick

(C) Robin Holliday

(D) A. Kornberg
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9. Deoxyribose sugar is found in :

(A) DNA

(B) RNA

(C) Both DNA and RNA

(D) Ribozyme

10. DNA replication is :

(A) Conservative

(B) Semi-conservative

(C) Dispersive

(D) All of the above

11. Uracil is found in :

(A) DNA

(B) RNA

(C) Both DNA and RNA

(D) None of the above

12. Semi-conservative mode of DNA replication

was experimentally proved by :

(A) Mesolson and Stahl

(B) Watsen and Crick

(C) Franklin and Wilkinson

(D) Griffith

13. Griffith experiment proved that :

(A) DNA is genetic material

(B) RNA is genetic material

(C) Both can be genetic material

(D) Only viral genetic material enters inside

the host cell

14. RNA can be genetic material in :

(A) Bacteria

(B) Virus

(C) Lichen

(D) Eukaryotes

15. Unusual modified bases are found in :

(A) mRNA

(B) rRNA

(C) tRNA

(D) DNA

16. Plasmids are found in :

(A) Viruses

(B) Bacteria

(C) Fungus

(D) Mammalian cell line
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17. A nucleotide contains :

(A) Pentose sugar and phosphate

(B) Pentose sugar and nitrogen base

(C) Nitrogen base and phosphate

(D) Nitrogen base, pentose sugar and

phosphate

18. Barbara McClintock conducted her

experiments on :

(A) Maize

(B) Pea

(C) Sugarcane

(D) Drosophila

19. Jumping genes discovered by Barbara

McClintock were :

(A) Mutated genes

(B) Inactive genes

(C) Transposons

(D) Junk DNA

20. Transposons are :

(A) Mobile DNA elements

(B) Non-mobile DNA elements

(C) Highly mutated DNA

(D) Methylated DNA

21. Transposons are found in :

(A) Bacteria

(B) Yeast

(C) Drosophila

(D) All of the above

22. Retrotransposons created due to :

(A) Transcription

(B) Translation

(C) Replication

(D) Reverse Transcription

23. Thymidine dimers in DNA are formed due

to exposure of :

(A) UV rays

(B)  -rays

(C) Gamma rays

(D) X-rays

24. Mutagens are :

(A) Mutation causing substances

(B) Cancer causing substances

(C) Antiviral substances

(D) Cell death inducing substances

[P.T.O.]
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25. Homologous recombination occurs

during :

(A) Mitosis

(B) Meiosis

(C) Cytokinesis

(D) Amitosis

26. In prokaryotes, DNA replication starts at :

(A) Promoter

(B) Operator

(C) Ori

(D) ARS

27. DNA replication occurs in :

(A) 3’-5’ direction

(B) 5’–3’ direction

(C) Can occur in both 5’–3’   and 3’–5’

directions

(D) DNA replication is directionless

28. Which enzyme joins the nicks in DNA

strand ?

(A) Primase

(B) DNA polymerase

(C) DNA ligase

(D) Endonuclease

29. During DNA replication, unwinding of DNA
helix occurs due to :

(A) Helicase

(B) Lipase

(C) Topoisomerase

(D) Exonuclease

30. During DNA replication, the single strand

binding proteins (SSBPs) :

(A) helps to rewind the DNA

(B) maintains the unwound DNA in single

stranded condition

(C) activates the protein DnaA

(D) binds with okazaki fragments

31. Which of the following prokaryotic DNA

polymerase is involved in replication of

damaged DNA ?

(A) DNA polymerase I

(B) DNA polymerase II

(C) DNA polymerase III

(D) DNA polymerase IV and V

32. Proofreading activity of DNA polymerase

is :

(A) 3’–5’ exonuclease

(B) 5’–3’ exonuclease

(C) 3’–5’ polymerase

(D) 5’–3’ polymerase
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33. During DNA replication, okazaki fragments

are synthesized on :

(A) Leading strand

(B) Lagging strand

(C) Both on leading and lagging strands

(D) Sometimes on leading and sometime

on lagging strand

34. Telomerase enzyme is active in :

(A) Liver cells

(B) Kidney cells

(C) Embryonic cells

(D) All of the above

35. Telomerase enzyme contains :

(A) RNA and protein

(B) DNA and protein

(C) Protein only

(D) Protein and Carbohydrate

36. Primosome has :

(A) Polymerase activity

(B) Exonuclease activity

(C) Endonuclease activity

(D) Primase and helicase activity

37. During DNA replication, supercoiling of DNA

molecule is removed by :

(A) Primase

(B) Topoisomerase

(C) Helicase

(D) Polymerase

38. During prokaryotic DNA replication, RNA

primers are removed by :

(A) Primase

(B) Helicase

(C) Ligase

(D) DNA polymerase I

39. In prokaryotes, the main DNA replicating

enzyme is :

(A) DNA Polymerase I

(B) DNA Polymerase II

(C) DNA Polymerase III

(D) DNA Polymerase IV

40. RNA primers required for prokaryotic DNA

replication are synthesized by :

(A) DNA polymerase I

(B) DNA polymerase alpha

(C) Primase

(D) Ligase

[P.T.O.]
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41. Speed of DNA replication is greater on :

(A) Leading strand

(B) Lagging strand

(C) Same on both leading and lagging

strands

(D) Depends on enzyme

42. In which cell cycle stage of eukaryotes, DNA

replication occurs ?

(A) G1

(B) S

(C) G2

(D) M

43. In eukaryotic cells, during DNA replication

the  RNA primers are synthesized by :

(A) Primase

(B) DNA polymerase alpha

(C) DNA polymerase beta

(D) DNA polymerase delta

44. During DNA replication, two adjacent

nucleotides are joined to each other by :

(A) Peptide bond

(B) Glycosidic bond

(C) Phosphodiester bond

(D) Covalent bond

45. The Central Dogma Statement is usually

written as :

(A) DNA   mRNA   Protein

(B) mRNA   DNA   Protein

(C) Protein   mRNA   DNA

(D) DNA   Protein   mRNA

46. RNA processing does not occur in :

(A) Prokaryotic mRNA

(B) Eukaryotic mRNA

(C) tRNA

(D) rRNA

47. Splicing of RNA involves :

(A) Removal of exons

(B) Removal of introns

(C) Formation of poly A tail

(D) 5’ – capping

48. 5’ cap of eukaryotic mRNA is :

(A) Methylated Adenine

(B) Methylated Guanine

(C) Methylated Cytosine

(D) Methylated Thymine
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49. Synthesis of mRNA from DNA is called :

(A) Translation

(B) Replication

(C) Transcription

(D) Reverse Transcription

50. TATA box is found in :

(A) Promoter

(B) Operator

(C) Terminator

(D) Shine Dalgarno Sequence

51. Reverse Transcription means :

(A) Synthesis of DNA from DNA

(B) Synthesis of RNA from DNA

(C) Synthesis of DNA from RNA

(D) Synthesis of protein from RNA

52. Introns are found in :

(A) Prokaryotic mRNA

(B) Eukaryotic mRNA

(C) rRNA

(D) All of the above

53. Poly A tail is present in :

(A) rRNA

(B) tRNA

(C) Prokaryotic mRNA

(D) Eukaryotic mRNA

54. Splicing occurs in :

(A) rRNA

(B) Prokaryotic mRNA

(C) Eukaryotic mRNA

(D) All of the above

55. U RNA is found in :

(A) Spliceosome

(B) Nucleosome

(C) Primosome

(D) Ribosome

56. Rho protein is involved in :

(A) Termination of replication

(B) Termination of transcription

(C) Termination of translation

(D) All of the above

[P.T.O.]
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57. Eukaryotic mRNA is synthesized by :

(A) RNA polymerase I

(B) RNA polymerase II

(C) RNA polymerase III

(D) Reverse Transcriptase

58. Spliceosomes are involved in :

(A) RNA editing

(B) Polyadenylation

(C) Splicing

(D) RNA degration

59. Which of the following process does not

occur in prokaryotes ?

(A) Replication

(B) Transcription

(C) Translation

(D) Splicing

60. At promoter site of DNA :

(A) Replication starts

(B) Transcription starts

(C) Translation starts

(D) Termination of transcription

61. Sigma factor is component of :

(A) Prokaryotic RNA polymerase

(B) Eukaryotic RNA polymerase

(C) Reverse Transcriptase

(D) DNA polymerase alpha

62. Which of the following RNA is involved in

protein synthesis ?

(A) mRNA

(B) rRNA

(C) tRNA

(D) All of the above

63. How many RNA polymerases are found in

eukaryotes ?

(A) 1

(B) 2

(C) 3

(D) 4

64. CTD tail is found in :

(A) RNA polymerase I

(B) RNA polymerase II

(C) RNA polymerase III

(D) All of the above
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65. Eukaryotic mRNA contains :

(A) 5’ cap

(B) 3’ tail

(C) Introns

(D) All of the above

66. Translation is :

(A) Synthesis of RNA from DNA

(B) Synthesis of DNA from RNA

(C) Synthesis of protein from RNA

(D) Synthesis of protein from DNA

67. A codon of genetic code contains :

(A) 1 nucleotide

(B) 2 nucleotide

(C) 3 nucleotide

(D) 4 nucleotide

68. Genetic code is comprised of :

(A) 16 codons

(B) 32 codons

(C) 64 codons

(D) 128 codons

69. Ribosomes are involved in :

(A) Lipid synthesis

(B) Protein synthesis

(C) Glycogen synthesis

(D) Nucleic acid synthesis

70. Which of the following group of codons are

termination codons ?

(A) UAG, UGA, UAA
(B) AUG, GUA, UAC
(C) AUA, AGA, ACA
(D) GAG, GAC, GAA

71. What is role of tRNA in protein synthesis ?

(A) Activation of amino acids

(B) Delivery of amino acids

(C) Peptide bond formation

(D) All of the above

72. Which site of tRNA molecule bonds to mRNA

molecule ?

(A) Anticodon

(B) Codon

(C) 3’ end

(D) 5’ end

73. In prokaryotes, the first amino acid of

polypeptide chain is :

(A) Tryptophan

(B) Leucine

(C) Valine

(D) Methionine

74. Which of the following enzyme is involved

is activation of amino acids

during translation ?

(A) Peptidyl transferase

(B) Amino acetyl tRNA synthetase

(C) Amino acid activase

(D) Amino acid synthetase

[P.T.O.]
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75. In prokaryotes, ribosome binds to mRNA

at :

(A) Shine Dalgarno Sequence

(B) Pribnow box

(C) CAAT box

(D) TATA box

76. Which of the following RNA constitutes

maximum percentage of cellular RNA ?

(A) mRNA

(B) tRNA

(C) rRNA

(D) hnRNA

77. Which RNA has a structure similar to clover

leaf ?

(A) mRNA

(B) tRNA

(C) rRNA

(D) hn RNA

78. fMet-tRNA is translation initiator tRNA in :

(A) Prokaryotes

(B) Eukaryotes

(C) Both prokaryotes and eukaryotes

(D) Viruses

79. The initiation codon is :

(A) UAA

(B) UGA

(C) UAG

(D) AUG

80. Which one of the following is not a

characteristic of genetic code ?

(A) Universal

(B) Degenerate

(C) Non-overlapping

(D) Ambiguous

81. Which of the following is not the component

of prokaryotic rRNA ?

(A) 23S  rRNA

(B) 18S  rRNA

(C) 16S  rRNA

(D) 5S  rRNA

82. During translation, the role of enzyme

peptidyl transferase is :

(A) Transfer of phosphate group

(B) Amino acid activation

(C) Peptide bond formation between

adjacent amino acids

(D) Binding to ribosome subunits to mRNA
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83. Polysomes are :

(A) Aggregation of ribosomes

(B) Aggregation of lysosomes

(C) mRNA molecule to which many

ribosomes are attached simultaneously

(D) All of the above

84. Which is energy rich molecule required for

initiation of translation ?

(A) ATP

(B) GTP

(C) CTP

(D) AMP

85. In eukaryotes, translation is initiated by

binding of ribosome to the :

(A) Pribnow box

(B) Hogness box

(C) 5’ cap

(D) Poly A tail

86. Which one of the following is not the gene

of lac operon ?

(A) lac X

(B) lac Z

(C) lac Y

(D) lac A

87. Inducer of lac operon is :

(A) Glucose

(B) Lactose

(C) cAMP

(D) Fructose

88. Which of the following gene encodes for

repressor protein of lac operon ?

(A) lac Z

(B) lac Y

(C) lac A

(D) lac I

89. Repressor protein of lac operon binds to :

(A) Promoter

(B) Operator

(C) Pribnow box

(D) SD sequence

90. lac Z gene of lac operon encodes for :

(A) Permease

(B) Beta galactosidase

(C) Transacetylase

(D) Repressor protein

91. In lac operon, RNA polymerase binds to :

(A) Promoter

(B) Operator

(C) SD sequence

(D) lac Z

92. An operon is made up of :

(A) Promoter

(B) Operator

(C) Structural genes

(D) All of the above

[P.T.O.]



KNP/BBT-203(BIOTECH.)-A/300 (  14  )

93. The sequence of structural genes in the lac

operon is :

(A) lac A - lac Z - lac Y

(B) lac Z – lac Y – lac A

(C) lac Z – lac A – lac Y

(D) lac A – lac Y – lac Z

94. lac operon is an example of :

(A) Only positive regulation

(B) Only negative regulation

(C) Both positive and negative regulation

(D) Sometimes positive and sometimes

negative regulation

95. Expression of prokaryotic operons leads

to the generation of :

(A) Polycistronic mRNA

(B) Monocistronic mRNA

(C) Polycistronic tRNA

(D) Monocistronic tRNA

96. In the trp operon, the tryptophan acts as

the :

(A) Repressor

(B) Activator

(C) Co-repressor

(D) Co-activator

97. The regulation of trp operon by binding of

tryptophan to trp repressor is termed as :

(A) Repression

(B) Induction

(C) Anti termination

(D) Attenuation

98. How many structural genes are present in

the trp operon of E. coli ?

(A) 3

(B) 4

(C) 5

(D) 6

99. Attenuation is regulatory mechanism of

bacterial operons, it is present in :

(A) lac operon

(B) trp operon

(C) Both lac and trp operons

(D) None of the above

100. Which of the following element is not present

in DNA ?

(A) Nitrogen

(B) Phosphorus

(C) Carbon

(D) Sulphur
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mnkgj.k %

iz'u %

iz'u 1

iz'u 2

iz'u 3

;fn ijh{kkFkhZ }kjk 75 ls vf/kd iz'uksa dks gy fd;k
tkrk gS rks izkjfEHkd gy fd;s gq, 75 mÙkjksa dks gh
ewY;kadu gsrq lfEefyr fd;k tk,xkA

4. izR;sd iz'u ds vad leku gSaA vkids ftrus mÙkj
lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA

5. lHkh mÙkj dsoy vks0,e0vkj0 mÙkj&i=d
(OMR Answer Sheet) ij gh fn;s tkus gSaA
mÙkj&i=d esa fu/kkZfjr LFkku ds vykok vU;=
dgha ij fn;k x;k mÙkj ekU; ugha gksxkA

6. vks0,e0vkj0 mÙkj&i=d (OMR Answer

Sheet) ij dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s
lHkh vuqns'kksa dks lko/kkuhiwoZd i<+ fy;k tk;sA

7. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd
dks viuh iz'uiqfLrdk cqdysV ,oa vks0,e0vkj0
'khV i`Fkd&i`Fkd miyC/k djkus ds ckn gh ijh{kk
d{k ls izLFkku djsaA

8. fuxsfVo ekfdZax ugha gSA
9. dksbZ Hkh jQ dk;Z] iz'u&iqfLrdk esa] jQ&dk;Z ds

fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A
10. ijh{kk&d{k esa ykWx&cqd] dSYdqysVj] istj rFkk lsY;qyj

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA

11. iz'u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus

dh n'kk esa iz'u dk vaxzsth :ikUrj.k gh ekU;

gksxkA

egRoiw.kZ% iz'uiqfLrdk [kksyus ij izFker% tk¡p dj
ns[k ysa fd iz'uiqfLrdk ds lHkh i`"B HkyhHkk¡fr Nis
g q, gS aA ;fn iz'uiqfLrdk es a dk sb Z deh gk s ] rk s
d{kfujh{kd dk s fn[kkdj mlh fljht dh nwljh
iz'uiqfLrdk izkIr dj ysaA

A C D

A D

A C D

B
A C D

A D

A C D
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